A
T

.Q T /\E]—/T\‘ a = —1
2log ——+ =
- log,20, b=1log29l t]3s}<]

axbol 22 [44]

D1
@ 4

® 2
® 5

12

2
4 o], g flo)o] FHiH2? [44]
@1 @ 3
® 7



4 @0

45} gJod

11 ANZ =04 W S&sto] 44 9 =4l= A P9

Azt (¢ =0)ol A 914 z7t

12 A1339) A7 19 o RAEF f(2) % F5 aol
Bl 4

() —3(x—1)

o] 9t} lim < = lim g(z)¥ o
r—1— | 1| x— 1+
<HZI>A &S ANE e U2 18 ZLS? [434]

<H7]>

C. g@)l= o A2 57t 49 o), 5Re & a9 Fh
6olct.
@ @ v ® 1, -
@ v, = O .-

12




A
T

.

o %3 5

13 193 2o g el A= 24gE" F A A Col
tHated & AC 91¢] 1919 & B, D7} 9l
AABC+AADC 9] kol Htid wje] 3 B, Dol tisf
AB=2, CD=6°]"d AC9| #-<? [44]

B
C
A
D
3 4 5
@gm @gm

~

4 5E Go] go] opd Aoln thy 24

£ 54 (o0 B5tel 0,9 3] F& T, (44

g

b BE AL5 nol Yol

1 a
(@, 41— Ean)(anﬂ —2")=0°]tt.

W a,,,, —a, <05 WFAT= 5 oake] A mo

ael e gol.

(th a, =ay
@ 3 @5 ® 6
@ 7 ® 9

12




45} o

SRl mE A% el dhate

tlo

2 n
[ i~ [Tgwa=02 W, k+rG) @
—n+4 2

e [44]

21 A A AFIE 19 oA flo)o] thstel
hz) = If (@) < f (@) a2k A5 kol tiste] g4
y=ha)el Tz 4H y=_a+hel WH A5E

gk)et & o, s g(k), h(z)E Ty 27E THEeh

(7 h(0)=0
(h) 1lim g(k) >2

k—0—

12




10 &9

257k obd A4

flz)=e

a®t A5 b

(b BE A% pol diste] flatp)

=f2)E WA=

0<p<2r AF p7} EAH
(W) 0<z<2rdllA flz)=fla)9] AL a, atpiEolt}
(th —f"(a) = f(a)
Sing=———— o) W, 2+ ge? [47]
Vai+v?
3 7
9 5
Vs 37

29 x> 0014 BoH & flz)=—

Ala, 1)9F P(

p, D)= the AL wEA7IT

10

12




A= =
Tt Y =) 11
30,45 QA2 QRN BEAEEE ARTEE 2
F0)=0%0 #4 7@l dietol A5 @A) ol
AoE 84 gt BE A% ool Yt
flg@) < fgla) =28 TFHAZT g4

(7h EE AF zol diste] fB+az)+f(G—x)=2f(4)°]t}

(W f@P+fla)f (o) <05 B3 BE A g0
HOE= 2<a<60|th

(th f1)=1, f(1)=4

2k k
/ h(t)dt— / h(t)dte] 7He9 (2 ki okrel AbrolT})
k 0

[471]

11

12




